LITTLE FLOWER PUBLIC SCHOOL KOLLAMULA

ENTRANCE TEST 2018 - 19
CLASS - XI
COMMERCE STREAM

GENERAL INSTRUCTIONS:

iii.
iv.
V.
Vi.
Vii.
viii.

This question paper consists of 50 questions.

Each question is followed by four possible answers. You have to select the correct option and darken the
appropriate bubble in the OMR sheet provided.

All questions are compulsory.

Each question carries 2 marks.

BEWARE!!! ONE MARK WILL BE DEDUCTED FOR A WRONG ATTEMPT.

Do not write anything on the question paper and OMR sheet

Rough work may be done on the additional sheets provided.

Use only blue or black ball point pen.

ENGLISH

Study the given notes and complete the paragraph that follows by filling up the gaps with the most
appropriate option from those given.

Annual Function of school

The Mayor as the Chief Guest
e Inaguration by the Principal

e Prize Distribution by the Chief Guest

Last week the Annual Function of our school (1) . The Mayor of the town (2)
to grace the occasion as the chief guest. The function (3) by the Principal while the Mayor,
the Chief Guest (4) the prize to the winners.
1. (@) is celebrated (b) had been celebrated
(c) was celebrated (d) shall be celebrated
2. (@) was invited (b) has been invited
(c) isinvited (d) shall be invited
3. (@) isinaugurated (b) was inaugurated
(c) will be inaugurated (d) has been inaugurated
4. (@) will distribute (b) distributed

(c) had distributed (d) s distributing




Complete the dialogue choosing the correct option given below:

Puneet
Ramesh
Puneet
Ramesh
5. @
(©)
6. @)
(c)
7. @
(c)
8. @)
(c)

(5) after doing Senior Secondary?
I don’t know (6) do after that. If nothing happens, | shall take admission in
B.A.
: Thisisnotgood. You (7) __ some planning in life.
Man proposes, God disposes. O one can say with certainty (8) _ the very

next moment.

How will you do (b) What will you do
What you will do (d) How you will do
what to (b) how to

when to (d) whyto

shall have (b) should have
could have (d) may have

when will happen (b) what will happen

how it will happen (d) why will it happen

Choose the best word from the options given in bracket to complete the following passage:

The rapid increase (9)
limited resources. (10)

9. @

10. (@)

human population has left us battling with other species for
we wonder whether this planet will remain a pleasant place to live on.

with (b) of (c) often (d) during
Often (b) When  (c) While (d) As
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ECONOMICS

How many days of employment is guaranteed under NREGA 2005?

(@ 50 (b) 75

(c) 100 (d) 200

What does GDP stand for?

(@) Grand Development Programme (b) Gross Domestic Product
(c) Growth and Development Project (d) Grain Donating Programme

What is meant by disguised unemployment?

(@) When a person is willing to work but fails to get a job

(b) When more people is working than required

(c) When payment is received less than the minimum

(d) When the government is failed to provide employment

Which among the following is also called the Right to work?

(@ RTI (b) Equal wages Act (c) NREGA (d) COPRA
Which among the following is the most labour absorbing sector in India?

(@) Manufacturing (b) Mining

(c) Agriculture (d) Service sector

Who issues currency notes in India?

(a) FDI (b) RBI (c) SBI (d) FICCI

Where is the Head Quarters of the Reserve Bank of India?

(@ Chennai (b) Kolkata (c) Delhi (d) Mumbai
When was the policy of liberalisation adopted?

(@ 1919 (b) 1991 (c) 1199 (d) 1981
Which among the following is NOT a feature of organised sector?

(a) They are registered by the government

(b) There is no security of employment

(c) Work for fixed hours

(d) Paid leaves



20.

21.

22,

23.

24,

25.

What is the main feature of barter system?
(@) Double coincidence of things (b) Double coincidence of wants

(c) Goods are exchanged directly (d) there is no use of money

Who supervises the functioning of formal sources of credit?

(@ Government of India  (b) Ministry of Finance

(c) Reserve Banko India (d) State Bank of India

Which among the following is not included in the terms of credit?

(@) Interest (b) Collateral (c) mode of repayment (d) loan amount
Who is the founder of Grameen Bank of Bangladesh?

(@ Maulana Azad (b) Muhammed Yunus

(c) Abdul Rasaq (d) Muhammed Igbal

Which among the following organization is formed to liberalise international trade?
(@) Consumer councils (b) WTO (c) UNESCO (d) WHO
Who is the Finance Minister of India?

(a) Sushama Swaraj (b) Rajnath Singh

(c) Arun Jaitly (d) Nirmala Setaraman
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MATHEMATICS

Evaluate v6.25

(@ 35 (b) 0.35 (c) 25 (d) 0.25
Evaluate -300 + (525 - 25x 5) x 135

(@ 235 (b) 335 (c) -235 (d) -335

Evaluate 20% of 30

(@ 55 (b) 0.55 (c) 6 (d) 0.6

Evaluate 95672 + 2356 - 725 + 135

(a) 87438 (b) 97438 (c) 86437 (d) 96437

Evaluate 12.25 + 3.5

(@) 0.35 (b) 4.5 ) 35 (d) 0.45

Evaluate 6.05 x 80.5 - 235

(a) 463.525 (b) 536.525 (c) 763.525 (d) 636.525

Evaluate (9900 + 11) + -900

(a) -1800 (b) 1800 (c) 0 (d) 99
Find the mean of the following data

20, 35, 30, 25, 45, 40, 65, 60, 70, 80

(a) 475 (b) 575 (c) 47 (d) 57
Find the mode of the following data

135, 35, 4, 65, 35, 135, 35, 65, 75

(@ 135 (b) 35 (c) 6.5 (d)y 10

If the median of the following data is 15 then find the value of x
10, 12, 2x, 3x+5, 17, 20

(@) 3 (b) 4 () 5 (d) 7

If the mean of the following data is 10 then find the value of P.

X1 7 [8 [12 [14 19
fi 3 |2 |3 |2 |p

@ 9 (b) 2 © 1 (d) 5
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38.
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40

The sum of V0.81 + vV6.25 ++9
(@) 64 (b) 8.4
Evaluate 903856 — 893578 + 369015
(a) 479293 (b) 379293
Evaluate ( 6.25 x 10) =+ 100

(a) 62.5 (b) 0.625 (c) 7.25

The range of the following data is

(c) 6

(c) 389293

(d) 0.725

39 ,38,20, 26,27, 23
(@) 16 (b) 18 (©) 19

d) 20

d) 8

(d) 489293
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INFORMATICS PRACTICES

You want to apply to an institution for a scholarship and you want to email them your application along
with the copies of your certificates. Which of the following devices would you prefer to capture the
Digital copy of your certificates to be attached with your application?

(@) MICR (b) OCR

(c) OMR (d) Light pen

At one place in a document Reenu wants to type x3+8x-2, but she is not able to get 3 at its proper place.
Which option should she use for this purpose.

(a Bold (b) Underline

(c) Super Script (d) Subscript

This is an easy way to perform calculations in Ms-Excel.
(a) Wizard (b) Dialog Box

(c) Formula (d) Program

Domain name ending with .edu belongs to :

(@) An Educational Institution (b) A commercial unit
(c) A defence Institution (d) An NGO
CD-ROM stands for :
(a) Compactable Read Only Memory (b) Compact Read Only Memory
(c) Compactable Disk Read Only Memory (d) Compact Disk Read Only Memory

The keyboard shortcut for Paste is in Excel .

(a) Ctrl+C (b) Ctrl+A
(c) Ctrl+Vv (d) Ctrl+X
The scanner, joystick, light pen are:
(a) Output Devices (b) Processing Devices
(c) Input Devices (d) All the above
Which sign in the e-mail address is used to join user name and host name.
(a) # (b) *
(c@ (d) None of these
Where do you place the <TITLE> element in HTML document .
(a) BODY (b) HEAD
(c) LIST (d) TABLE
After deleting a file , it goes to the :
(a) My Documents (b) My Computer

(c) New Folder (d) Recycle Bin
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